FATHOMING    y = Ax  + K


Exploring the Effects of A

(If you wish to study the slide more than once, be sure to set A = 0 before restarting the slide.) 

1.
What equation would we create if we set A = 0 and K = 3?

y = 0x + 3       or      y = 3
2.
Describe the graph of this equation.  Support your description by placing a copy the actual graph here.

The graph is a horizontal line that passes through 3 on the y-axis.
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3.
Slide A to the right and describe what happens to the graph.  Support your description by placing a copy of one of the graphs here.  Be sure to rewrite the equation using the A and K values that created the graph.  
As A slides to the right (increases), the line begins to tilt upward from the horizontal position.  The higher A goes, the steeper the line goes.
[image: image2.emf]-4

-3

-2

-1

0

1

2

3

4

5

y

-4 -3 -2 -1 0 1 2 3 4

x

y = Ax• K +

no data Function Plot


      y = 3x + 3
4.
Reset A = 0.  Slide A to the left and describe what happens to the graph.  Support your description by placing a copy of one of the graphs here.  Be sure to rewrite the equation using the A and K values that created the graph.  
As A slides to the left (decreases), the line begins to tilt downward from the horizontal position.  The lower A goes, the further down the line will go.
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      y = -1x + 3
Exploring the Effects of K

(If you wish to study the slide more than once, be sure to set K = 0 before restarting the slide.) 
5.
Set A = 1 and K = 0.  What equation does this create?  Describe the graph.  
y = 1x + 0   or   y = x 
The graph is a diagonal line going upward to the right.  The line passes through the origin.
6.
Slide K to the right and describe what happens to the graph.  Support your description by placing a copy of one of the graphs here.  Be sure to rewrite the equation using the A and K values that created the graph.  

As K slides to the right (increases), the line moves upward.  That is, instead of passing through the origin, the line now passes through the y-axis at a point K units above the origin.  
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     y = 1x + 2

7.
Reset K = 0.  Slide K to the left and describe what happens to the graph.  Support your description by placing a copy of one of the graphs here.  Be sure to rewrite the equation using the A and K values that created the graph.  

As K slides to the left (decreases), the line moves upward.  That is, instead of passing through the origin, the line now passes through the y-axis at a point K units below the origin.  
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     y = 1x – 4
Conclusion

8.
Briefly describe the effect each variable has on this linear equation.


y = Ax + K
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A affects the slope (steepness).


K is the y-intercept.
If A is positive the line goes up.

If A is negative the line goes down.

Personal Practice (WITHOUT Fathom)
Rewrite the equation using specific values for A and K.
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9.
y = 2x - 4





10.
y = (-1/2) x + 2 

Graph each of the following.

11.
y = (1/3) x – 2




12.
y =   -4x + 4
 
